MOJOTONE TWEED VIBROLUK LAYOUT

2 AMP. FUSE ON / OFF PILOT LIGHT

A | DEPTH | “‘ | VOLUME N\
|1250K Lin | Lo
A7 | \‘ H g
| [N H‘ | |
N - | »

ORI R B I B B e e e e
#8 GROUND TAB
PT MOUNTING STUD
MOJO757EX 1
POWER TRANSFORMER —

OMIT THIS s
RESISTOR
WHEN USING
BIAS

) s vt TENTIOMETER

MOD glagy

BIAS POTENTIOMETER MOD

o— x| <0

\

) MOJO768
QUTPUT TRANSFORMER
’

| @) \
8 ] I 53:\\\ 8 1 J I
#6 GROUND TAB ) #6 GROUND TAB \\f*//' \\\/
5Y3 6V6GT 6V6GT SPEAKER 12AX7 FT. SWITCH 12AX7

HARDW ARE:

4 QTY 4-40 x 1/4" SCREWS FOR NOVAL TUBE SOCKETS
6 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS

10 QTY 4-40 KEPS NUTS mnﬂn® TWEED VIBROLUX
2 QTY 6-32 X 1/2" SCREWS FOR EYELET BOARD

2 QTY 6-32 KEPS NUTS REVISION 4

2 QTY 8-32 X 1/4" SCREWS FOR OUTPUT TRANSFORMER

6 QTY 8-32 KEP/S NUTS FOR TRANSFORMERS P NI=— 6/29/2022

2 QTY 10-32 X 1 1/2" SCREWS FOR CHASSIS

2 QTY 10-32 KEPS NUTS




